CP or SP are same

Concept Lecture - 3




A man bought a cow and a horse for
Rs.12-640 (each,) he sold both of them at
profits of 10% and 15% respectively. Find
his profit % in whole transaction.

TH Al & Th I 3R wF =92 HY
12,000 ¥T9¥ #H @E, 38 gl A
FHA: 10% AR 15% F FATH T 41|
W AdeT H IqHT ATHY AT FY

a) 25% b) 5%

ey 12.5% d) none




A man bought a desktop and a laptop for Rs.

: QQ l_38,000)each, he sold both of them at
oV profits of 20% and 30%. Find his profit in
C p whole transaction. .
26000 R57. F WAl A UF 3T IR
[

dueT Fr 38,000 TUF H @ler, 3T
gl 20% AR 30% F FAH W
ST QX dAdeAd H IHHT AT AT B
a) 9500 b) 8500

\6/19000 d) 9000
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A man bought anApple, Banana and Guava at
same price. He sold those respectively at
129% profit, 8% loss and 17% profit. Find his
profit or loss % in whole transaction.

TH HGAT A TH A, TH FoT AR TH HAG
A Aed #A @lQ| 36T 3T Fal H FAW:
12% T, 8% gIfe duT 17% &M U = fan|
SH oed-dsT A 3HHT oI AT % AT HL

a) 9% b) 8% 7% d) 10%
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The cost price of two watches is same. One
watch is sold at 20% profit and the other
watch is sold at Rs.550. If the overall profit
in the whole trans4ction i |s what is the
cost price of each watch? ¥Z = %0%

3 af3dl #1 F7 AT T § 'F g
F 20% W W qAT gE T A 550
T A 99T AW Bl AR} QP AT A
15% mmﬂgm%?ﬂmaﬁrm
Y Aed fhae §2

#/Rs.500 b) Rs.520

c) Rs.540 d) Can’t says




The Cost price of two motor cycles is same.
One is sold at a profit of 15% and the other

+15 for Rs.4800 more than the first. If the net
I ' 20 profit is(ZO%S find the cost price of each
19/ oé Y¢do oL motor cycle.

cp I +2sv. goxzz‘qo./] ar M WRfFe FT I AT WA g
TF H 159% W7 G TUT gl T Tgell
T 4800 ® ™+ & 99T T PR HedA
qH % 20% ¥ @ AF A ABThA
HT,HT Aed AT F?
Rs.48,000 b) Rs.52, 000
C) Rs.36,000 d) Rs.42, 500




A man sold one Alto and one Ferrari at same
price. On one he lost 30 % and on other he
gained 30 %. Find his overall profit or loss %.

TF AT of T & AT W TF e
i T HO A= TE W 3H 30% @
AHAE §I HR g W 34 30% F
BIRIGT 3T IHRT AT ATH AT A%
a S

M a) 0% b) 9% gain

\b 56 \,0')/9%|OSS d) 15% loss




A dealer sold two types of goods for
Rs.10000 each. On one of them, he lost
_Z_Q%) and on the other he gained 20%. His
gain or loss per cent in the entire
transaction was

TF 3o A & YR & AW F TdH
H 10000 FIF H a9 391/ § TF W,
30 20% @ @ & 3R q:srt W 39
20% T AT EITI qY AA-geT A IHHI
AT AT g wfaRra AT e

a) 2% loss b) 2% gain

c) 4% gain \_,d')/4% loss




A man sold two pipes at. On one
he gained 20% and on the other lost

J0X2L0 Y-/, 20%.On the whole he:
oo U@ 3MeHT F & usdl # 60 IUA/AEY
Boh (ripeh # d°T TH W I 20% WS §IT IR
il g W 20% H @ gEl QWG H
CP S P L FIT AT @I
Ve a) No gain no loss b) Gained Re. 5
'ng Q{‘:\ | ostRe. 5 d) lost Re. 10
) R
I0F 5%
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A man sells two chairs at Rs.120 each and by
doing so gains 25% on one chair and loses

25% on the other. His loss in the whole

transaction in Rs. is

T&h AT &1 HAT 1 9@+ 120 T
@ra#aam%aﬁ?ﬁmaﬂﬁwww
FH 9T 25% FT 17 gm ¢ AR @ W
25% mmrrra?n gl W dd-eT H

I my@ AT e
a) 20 16 8 d) 30

| | 10
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By Selling two articles each_at same price,
one at a profit of 30% and other at a loss of
30%Ja merchant got Rs.450 loss. What is
the selling price of each article?

al aE3t # W @Ry Jou w
TR, TH B 30% W W JAT gwd
Y 30% gifar &, TFHF AU H 450 &
$T JFAE EI TAF T&G F1 fOFT
qoq T ¥7°

a) Rs.5000 b) Rs.4550

\efRs.2275 d) Rs.2500
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Amit sold two pens each at the same price,
one at a profit onO% and the other at a
loss of 30%. What is the net profit or loss
percentage?

AT o & FoaA WE Hed T W)
THF W IH 20% magarramga'tw
30% @fer af 3@a1 For fraat % o

ar gifer gam?

11
\;)/1 19% b) 22%

c) 10% d) 25%




Arvind sold two mobiles each at the same price,
one at a profit of 20% and the other at a profit
5 6 +) of 30%. What is the net profit percentage?
5 43 INfAE o & ANRAT W Hed W a7
10 Rl v W 3H 20% H FIT U7
W 30% A 3F T Fhaa % AT EI;HT?

§5 +1% \;))/10% b) 5%
43 24.8% d)25% ) 50%
€0 +18
Y
2“-?‘/:& __LJ'( 50
E 5
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A man sold two cycles for R&-560 each. On
one, he lost 20% and on other, he lost 12%.

How much does he gain or lose in the whole
transaction? loo &8

TH HEHAT & FEfFHal F 500 & TAF
F U 9T aT 1 T W I 20%
gifer 9T q@ll 9 12% aﬁra'éltrt
a:r-a?r#wﬁmﬁ%wmaﬁraév

a) 17% b) 17.22%
<Y16.19% d) 18%
g 2

—r

I




Q=412 Two toys are sold at Rs 504 each. One toy
g brings the dealer a gain of 12% and the

MICTD +2a:b ==Y other a loss of 4%. The gain or loss per cent
?)5'—1 T:‘t:]y_/selling both the toys is N o ¥
: @als 93+ 504 ¥ & a9 ]
B90-96 _ Talt~ vE @l W 129 A T gAY W 4%
IS _208— gifr gl B 59 aa & A Fa fraa
oy yfcerd omer 41 gIfe §$?
— lop 5 . 5 .
p /L, \,aﬁ ¥% profit b) 4§% profit
x\@d ¢) 5 % profit d) 2 % loss
P

| SSC CGL 2013 T-2 | 15



Q= +%0 Two articles are sold for X975 each. On one

b= 25 the seller gains 30% and on the other, he
loses 25% What is the overall gain or loss
percentage, correct to one decimal place?

50 - 158D al ¢ H ¥ A% $ 3975 & eI W

205 9T ST @] 397 @ Th ad W Ak

F 30% T FaT § T qEA W 25%

. £ @ At ¥ Rk 1 g e
_jo? fercem gfdera smer srear a1 g% 2
\ﬁ{4.9% loss b) 5.3% gain
c) 4.9% gain d) 5.1% loss

| SSC CGL 2018 Tier 1 | 16



27 1'|6 Two articles are sold for X 5104 each. On
—[2. one, the seller gains 16% and on the other,
o he loses 12%. What is his overall gain

0D - 28 Y percent, nearfestto two decimal places?
. : ar aEgAHT H @ 9 AF N X 5,104 F
<0Y Hed W 991 AT @] 387 @ TF 9%

= W ¥ 2 9T fahar F 16% w7 FaT § A gEd
S e Tom TEG W 12% H gl g ¥ Rpar
S 102 ?ﬁrﬁwﬁmﬁwﬁr&m oITsT 3T

‘ \3/0.08% b) 0.12%
c) 0.14% d) 0.10%

SSC CGL 2018 Tier 1 17



Two articles are sold for X 4,956 each. On
one, the seller gam§"18% and on the other

200 - 576 he loses 16%. (Nhat is his overall gain or
202 - loss percent to néarest one decimal place?
192 QY TEGH FA A TAF F X 4,956 &

- 276 Hed 9 991 Jar 8] 3AA & 3|

— | €% 9 &S9T AT @] 39H @ 9T
—v= fasar # 18% «mr gar § 3 g@d
lof TFg W 16% #1 g et 3] Rshem &1
da Aaet fHaa gfdad @y srar

o 587
\;{(1 9 % loss b) 1.9% gain
c) 2.1% gain d) 2.1% loss

| SSC CGL 2018 Tier 1 | 18
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Two articles are sold for X9, 720xédch On
one, he seller gains 8% and\on the b er, he
loses 10% what is his overall gain or loss?

al 9 H ¥ IAF F 9,720 HT A
W AT FAT ¥ FA W TF G W
fashar Y 8% wmer gl ¥ 3R gEY avq
W 10% HT g gt 3] faskar & Feor

fAerT force et 3rar g1l 97
a) X380 loss b) X380 gain
¢) X360 loss d) X360 gain

| SSC CGL 2018 Tier 1 | 19
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A shopkeeper sold two article for
X10591 each. On one he gainedt19%
and on the other he Iost-—11°<(2.7_What
was his overall gain or loss percent
(correct to one decimal place)? 28

U GHFE@CR A o aEgH F @
q—aa?afrﬂosmagta"aﬂ 38 TH
FET T 19%TH

11% mﬁwmgﬁ‘rﬁam
AT T yfRia @i (ve guded

\:?H d&) AT F .92
Profit 1.8 % b) Profit 8%

c) Loss18% ). 8-/ _ d) Loss2.7%

| SSC CGL 2020 Tier 1 | 20
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Two vehicles are sold for Rs.1897 each.
One is sold at a profit of 42.84% and
another at a loss of_§}25%. Wh%t is the net
profit/loss % ? 16 ‘l’—_7

&Y agal # ¥ g&F H 1897 T H I
T I TH qET P 42.84% o 3R
gay 1 6.25% gifer H =T AT A FeA
A/ % AT P

a) 14.65% 13.20%
c)18.17% d) 15.3%




SP Three articles were sold at 18.18% loss,

I -2 qQ >3  20% profit and 14,28% profit redpectively.
Fl 6 <12 Selling price is san/ for all the three artlcles

'and he made an overall profit of Rs. 0 then
find the total CP of all three articles together’

M FEIHT T FAA: 18.18Y% @I, 20%

Pl amr 3R 14.2806 W7 GX =T | e
5’9 -lé et F RAFEIeT T AW ¢ oaun
60 + 39 FA 650 T FH A HAMN
£ aEG3T F HT Hed HT APT FM?
_ 5 +9 a) Rs.27635 Rs.27430
2) "‘lzo +5 ) Rs.21100 d) Rs.31650
AEY

| GP | 22



A man sells three articles X, Y and Z for Rs.2520

P f’/L Sp @,_Heqsells article X at 30% loss, article Y at
36.36‘%/Profit if there is[n_o profit nor loss in
X 10 > 7 i whole trénsacticﬂ Find the CP of article Z2?
Yy +y 15 x7T& gfFa o aEgat X, v 3Rz ;2520
¥ # d9aT ¥ 9F IFT X B 30% TR HR
Z qEG Y FI 36.36% AN W AT § IR W
AdesT & @A A a7 Ik T fefA @ A
X IS6  -Us. 105 WZWWWWHQI
‘S'” a)Rs.2288 _ QY  b)Rs. 1408
Yo7 4 ws ¢) Rs. 2232 %-b\m ] Rs. 2112
252088 al
Z 88 47 15 R B

| GP | 23



SP same (finding CP ratios):
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A villager buys a goat and a sheep together for
Rs14,250 . He sold the sheep at a profit of
10% and the goat at a loss of 20%. If he sold
both the animals at the same price, then what

was the of the cheaper animal?
TF JHIOT FiFd of Th dhd) X Th A4S

THATT 14,250 T #§ @ler 38 83 H1
10% o & TT AR IHy F 20% g
W a9 I} 39 &l SAea’t H A
Hed W 99T dl §Fd SAaR FT HT Hed
FIT AT?

a) 8250 b) 6600

c) 7500 \ 416000

| SSC CGL 2017 T-2 | 25
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At a village trade fair a man buys a horse
and a camel together for Rs 51,250. He
sold the horse at a profit of 25% and the
camel at a loss of 20% If he_sold both the
animals at the same price, then the cost
price of the cheaper animal was Rs,?

AMT & A & & gfed & & 9=
IR F Fe A ATFT 51,250 T
# @ler 39 81 FT 25% o W IR
3C # 20% g W a9 fear Ife 3@+
alll JeTadl F FAW Hed W 9T ar

a) 6600 b) 7500
c) 25000 20000

| SSC CGL 2017 T-2 | 26
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